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3)
SECTION -1
oTqug — |
CHILD DEVELOPMENT AND PEDAGOGY
1o e wa Rrememes

There are 30 questions in all in this section.
All questions are compulsory.

39 @UE 1 HeA 30 T # |
vt ye ST 2 |

Which dimension of development is influenced by the theories of NoamyChomsky ?
(A) Language development (B) Moral development
(C) Emotional development (D) Cognitive development
forepTe =61 61 1 31T T ATHEhT % fagTdl @ TuTid g3 | 2
(A) w1 T (B) fes forepm
(C) wrafire faehra (D) GRS fIehiE
Individual differences in temperament are basically:
(A) Learned (B) Innate
(C) Acquired ' (D) Culu}ral —
wWTa | SAfTa fafieard snurd €9 3 Bt 2 | o
(A) fefiE (B) ST
(C) fewEia (D) ETEH T
Who has NOT propounded any theory,of personality ?
(A) B.F. Skinner (B) Sigmund Freud
(C) Gordon Allport (D) Ramond B. Cattell
foper sfehcal o Tepet off TG ol Sautfed & fepam & 7
(A) .U, @R (B) Tamve wrre
(C) TS AT (D) TUE &ft. heed
Which test was ereated by Henry A. Murray and Christiana D. Morgan ?
(A) Seftence Completion Test (B) Sixteen Personality Factors
(C) Thematie, Apperception Test (D) Picture Frustration Test
TR TR AT fehfeeamr €. Af A gr A @ wiegor ffifa fopam w2
(A) ‘e gl v (B) dieTg SAfthed 3™
(€) NI T qheToT (D) To= puar wlieu
Which factor is NOT related to growth of a child ?
(A) Nutrition (B) Health
(C) Sleep (D) Domicile
Toh STCToh %l 1 § I |1 hTich FEaf-4d 981 8 7
(A) 9N (B) @&

©) Tz (D) framE
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Which test is culture-free Non-verbal test of Intelligence ?
(A) Group test of Intelligence (B) Weschler Adult Intelligence Scale
(C) Bhatia Battery (D) Standard Progressive Matrices
I 1 e §fgu T HEhid -k 37— o 7 ?
(A) gfgu =1 aug e (B) IR II%h Ffgas Aot
(C) wfea sl (D) wWuee yfae ffeas
Which intelligence is NOT included in Gardner’s theory of multiple intelligences ?
(A) Intrapersonal (B) Naturalistic
(C) Emotional (D) Existential
SR gfgrenai = e % g § S €t gigrn aftyf T2 8 2
(A) 3d:IaREH (B) WTehfaeh
(C) =l (D) ITfEacaeRi
Creativity is associated with which kind of thinking 2
(A) Overthinking (B)a. Metaythinking ERE
(C) Reflective thinking (D), Divergent thinking [OFg:t
TEHTcHehdT I % i | YR T TR ?
(A) 3rcafess faH (B) fa-fa=m
(C) Tomsff famam (D) TuET o=
The term mental retardation is replaced with which term ?
(A) Intellectual disability (B) Mental weakness
(C) Intellectwal backwardness (D) Intellectual disadvantage
Arfes fomfred Gg sl fond ug & e faeenfuq ferm men @ 2
(A) Sifgesrmed (B) WM HHASIR
(C) difgeh M&STH (D) sitfige wfceperar
Which, of'the following is NOT true for the theoretical concept of personality ?
(A), Stable (B) Normal
(C) Enduring (D) Unique
SHThcdl 1 HgTi=reh FEUON & Rl fra A s aaa T 8 7
(A) fer (B) €M

(C) Tt (D) 331
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11.

12.

13.

14.

)
Learning disability related to reading is termed as
(A) Dyscalculia (B) Dyslexia
(C) Dysgraphia (D) Dysthymia
UG § Tl IR JemAT Rl SIS |
(A) Teshaspicran (B) Tewferean
() feaifran (D) fezemsfirn

Children who are deprived of minimum basic facilities are classified as

(A) Delinquent children (B) Special children

(C) Disadvantaged children (D) Backward children

T I iaenaii & dfea srerent sl e w9 8 affepa feransman -

(A) AU qTeTH (B) fafyrs amet

(C) iieper aitferfaTed sTeTeh (D) Trogies

Which of the following is a behavioural §ymptom ofmaladjustment ? EEm
(A) Aggression (B) W AnXiety [=l75%
(C) Insecurity (D) /Apathy

=1 B & B |1 UG 1 TR TETT R ?

(A)  SATHTHHAT (B) Ta=m

(C) gia (D) SerEfiar

Which methodyis NOTdirectly related to children with special needs ?

(A) Diversity%of eurriculum

(B) Develepment of sports and extra curricular activities

(C) Different teaching methods

(D) (Tramming for special activities

TR, SATERFHAAT Tt STerehi < A1 i € e werer &9 8 gt 38 @ 7
(A), TTaasRA 1 Tafiriento

(B) WcAeha o AT UIGFshH T fe= o foshra

(C) T faveqor faferat

(D) ey nfafafer & fo wireor
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16.

17.

18.
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Classical conditioning theory propounded by Ivan Pavlov explains learning by

(A) reinforcement (B) association

(C) 1imitation (D) insight

3 TiaarTd gi Tfeaifed s sTge-en fagr=a Stfems st fe o g awemar &
(A) Y& (B) W&

(C) ITIH (D) g

Which of the following is NOT a process of learning for children ?

(A) Reflection (B) Argument
(C) Maturity (D) Imagination
1 5 A ol it STkl < Tl St o6 wfsRan 78 @ 2

(A) widfee=H (B) T

(C) Tiaeerdt (D) hogAt

The concept of reward and punishment ifyledtning isiintroduced by whom ?

(A) E.L. Thorndike (B) " Kohler & Koffka

(C) B.F. Skinner (D) /Albert Bandura

TR o YWEhR 9 U ot SR fehdeh gRT TEdTierd i TS 8 7 i
(A) 3.Te1. UieEH (B) HIEeR o SHiuhl e
(C) #.uw. whm (D) 3Tcse TgU

Which statement is NOT true for the concept of learning ?
(A) Learningis the change in behaviour.

(B) Thereis a relatively permanent difference.

(C) Learning isyinfluenced by practice.

(D) (Learning is an innate mechanism.

e i sraEmon % i B @ wer g T # 7
(A), AT SR | IiEd 2 |

(B) 3T&TTehd &Y & Rt 3= qfctféad g1 g |
(C) i 3n=rmy g e B @ |

(D) AT Teh TTId UfshAT 2 |
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19.

20.

21.

22.

Q)
Concept Mapping in Education was introduced by whom ?
(A) Carl Jung (B) Martin E. Seligman
(C) Noam J. Chomsky (D) Joseph D. Novak
Taren & sraymon At fohees grT ggmfad fomem T ?
(A) et G (B) W . A
(C) T ST, araeh! (D) SITEw €. Tk

Which type of teaching is NOT based upon objectives of teaching 2

(A) Cognitive teaching (B) Descriptive teaghing

(C) Affective teaching (D) Psychomotof teaching

Tretor 1 1 @1 TepR R8T o 3eTE W SnUTia FE @ 7

(A) EFHTCHS fremor (B) auifcass faremt

(C) T fareqo (D) HAEICITereh T80T E E'

A group creativity method for sélvingispecific problem by gathering a list of ideas
spontaneously is known as -

(A) Brain storming strategy (B) Mastery learning strategy
(C) Problem solving strategy (D) Heuristic strategy

afierar & foam <t = 6 Usampeh gr1 fafiTs T o qee 1 g AT fafd
el STl &

(A) Tfeqssh Tawid Ih (B) w@firca Aferm I
(C) EHEFHTL Ffth (D) 3= gfe

Which pfocess is NOT directly related to role of motivation in classroom learning ?

(A) “Knowledge of progress and result (B) Interpersonal adjustment

(C)n, Praise and criticism (D) Level of aspiration
ST AR T SISO hT freRT Topd IR & Toae T 4 Fid T8l @ 7
(A) TR AT 9RO 1 T (B) IAqdafhes HHRISH

(C) ITET AT AT (D) TSI &R
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24.

25.

26.
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Which is the main philosophy of National Curriculum Framework — 2005 ?
(A) Learning vocational skills (B) Learning without burden

(C) Learning co-curricular activities (D) Continuous and overall evaluation
Y TTga=ra F@1-2005 1 &7 ¢2H 1 3 ?

(A) SR Hretarl Hrga (B) e srer o dfi@

(C) wg-afires fafaferyi bl di@ (D)  |ad Taq ST Yoo

Which statement is NOT true for Right to Education Act —2009 ?

(A) Free and compulsory education for every child between 6 tod 4, years:
(B) Provision of School Management Committee.

(C) Constitution of National Commission for Elementary £ducation.

(D) Minimum 60 hours of work per week for a teacher.

forem 1 rferepr srfafRm-2009 % o i w1 e g 76 37

(A) ©: 9 Hgg 9y & Y STeTeh o o 3 o Safand fren

(B) Torarmera were wmftrfa =1 Smay™ EEE
(C) wnufies f3rem & for2 Tt ST SiiTe D
(D) 3= o fordt wfd THTE =qEH 60 TUhEh]

Who has NOT contributed to the development of Action Research in Education ?

(A) Kurt Lewin (B) B.R. Buckinghum
(C) Stephen M. Coyey (D) Stephen M. Corey
Tre 4 Toramensh STgeen < ferehre # fepe e T8l foa 2

(A) e Afed (B) .31, sipem
(C) WA UH, Hd (D) W% TH. HR

Which level of measurement is least used in educational psychology ?

(A) Oxdinal scale (B) Nominal scale

(C) HRatio scale (D) Equal interval scale
1o wfers & foh T 6 AI9A o =Faw ST feRe ST R 7

(A) FRHEEH A (B) HTiHeh ATAY

(C) 3ATuTfcreh HIat (D) THM =Tt AT
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27.

28.

29.

30.

)
Which of the following psychologists is NOT related to theories of child development ?
(A) Jean Piaget (B) Abraham Maslow
(C) Albert Bandura (D) Lev Vygotsky
e wieTTRel d | i Tet forehr o gl @ wrf-ia 38 @ 7
(A) St foems (B) 3TsITeH Tieal
(C) IFea Tl (D) <& SRATICEh!

Which method is NOT valid to study the role of heredity ?

(A) Twin study (B) Parent-Child analysis

(C) Adoption study (D) Peer group study

ST shl fHehT < eI < ford =i ot forfer v Teiagg

(A) Jeal Sl b1 AL (B)  SANTIEah —STeTeh [vetyour

(C) TAP-UU I (D) GQHIIES 9Hz AT EEE

E¥EH

The observable physical and psychological ‘¢haracteristics of an individual is termed as

(A) Prototype (B) Karyotype

(C) Phenotype (D) Genotype

T Sk i fe@ms ¢ anefiale qen AR foRiNarsTi i o &9 H qieATya foR
A2 |

(A) SIeEd (B) AR

(C) HHREY (D) SfFrerEy

According to which perspective, child development reflects a specific and prearranged
schemie within the body ?

(A)% Environmental (B) Social

(€). Biological (D) Psychological

fepe aftie o TR STt forehma IR % 31=et U fafire qen qdeafera yoreft ol gutar & 2
(A) drareLiE (B) @™

(C) 3w (D) |G
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Qug - 11
T -1
femal
39 @UE U FeA 30 T 7 |
avft e e § |

TR <k 3T &
(A) I (B) Tat
C€) fopem (AW @) SHERE |l (D) THAHE T

W SR T 34T U 0 T8 § w1 81, 98 hEelrdl §

(A) TSI aTeRT (B) 3TTd Uy

(C) Hohareieh TR (D) U YA

Tt ISTT T 1 31 § E__E!
(A) 39T AT (B) Teueht wggd Tad

(C) &= (D) €AW @A

Tt Tt B St foram & 31ed o Sy wAeRifdag

(A) AT @ W 9@ (B) SUHT AT IR Iac

(C) 33 HAIR =t o (D) 313 IR =t ER

ferenfofari <pt qecent < wew | wTyT i Hot eafi wa Tl o 1 U 3% e foren %
HISTed | 287 TohaT ST & \@H Taf oht shat AT 2

(A) TS S=mTSTTeT forfer (B) i wE fafer
(C) iga g fafer (D) @ fafy
BTeed JUTTe! &1 3ATfersenty fehom fopam 7

(A) Toratfes (B) Sleedd

(C) wmoeHis (D) UThEE |

S 3T % SR e 1 Fradt sk # aftirfera ug @

(A) ‘AT (B) A& T
(€) \FEqeiiehtoT (D) FER IR

el T Sl a9 Id T8 7

(A) 3o forad e freres foremeff <6t wgmar 9 L |

(B) 3@ TR ScTeht feT@am AW |

(C) 3Tei@ H 378 i FTae o5t & gt =nfee Sl fop arei s # & |
(D) Suderd Taft fershed @l & |
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39.  wTST-TrerT 1 g - WEA B —

A) Tz forears o= (B) UMIGM
(C) =m (D) TeehIehTuT
40. TTH U UIGATET % AT T § Hivford o & & —
(A) W (B) forwar mmf
©) foer (D) el
41. TAfaiaad o & WIST Jehler o1 S S |1 8 ? s
(A) e freror § gfd (B) TN % oIy FawX ]

(©) fowea(A)wd @) eHiw@d |l (D) A HE TE
42. 39 O Oifgs wherati w1 R -
(A) T T1eres Ush T H Ueh & B <hl Uieq of Hehdl 7, 37d: THT $A18Eh oI | |
(B) WiRgeh aieraTi sl S is &l S ST Hehall |
(C) = ufienati @ foeneff & i wrarh Hiwed — A, e STR i1 T @1 919 fema
T Fehel 2 |
(D) 37 wieman & feemeff & oRae vt 1 AT e B T £ |
43. Tmfafaa o @ suafey whemwr 3 fmior g aftrfera dei 8 A@p @ ug & 8 7
(A) TR AT FHET | (B) ieIor e 3Tiieh €9 6t THT BT |
(C) udreror o1 RO (D) \TOEUERT TSR
44. Hqq Ud ST HoATh JUITCH 1 QN 2 :
(A) 3TeT gUT=R 8 B areft whel (32 & foeneff @ o srermsiicl wd € |
(B) fareren feremeff <61 srrerveres fesmUe qymsl it d @A 2 |
(C) Teremeft =1 7o+t il o1 S FRawEaT war g |
(D) Tereneff o ad R wdia s W 91 a7, e sueht wnfess foehra wenfaa gran g |

Frferitad Tenst & 3R T I ST 45 T 54 I 6 ST ST ;

TEA: T T8 GRS JHT W AU Bl & a1 oigeh T T AR 0 hl 977, 31eH &
3R, &¢ B W@ HHSHICIH AN hl ATh 3T ABLAAT h AN H1 g9 &l § al gall 3R
TEATCHehdT hT caTe TEdl 8. | a1 31fres o8 et gim, 3at € 31Tk o8 3ot eardl 1 Tfauy
A BT TS, T3 ol 14k THA R | $Heh STTAR I&I T T o1q 98 ¥t F9gH] =1fee foh 5@
TR o= 1 gafed ST, I I8 3MTaveh Tal Wl foh Ted AT haet a1 & 3 35 € w®
St fob T Brd ht E® @ § wfeud 61 7 off | HRor g g 6 wafed g1 H wbrn A @ sm w
I T caid HITRAT | S IE o1d 39 fehdaT 3R 8 deed JRATT, I8 H ¢ I T hlg
I 81 il W2E 1 T o 16 & ST STl & foh 3R T&1 T B | 9T &K herrehid H ud fafeared
T8 2, SR 358 UH sHeHd o it 2, R ufd @ WHehR g5 81 &, I8 AEvaeh T8 | I8 S
gl ST & foh UHT 1S Fm el & o To1 ol 31 31 81 died a1 oi@ieh A =ITel &, 98 $© A
1 31fer o) St gehl & 3T FHfl—HuR faudid ff it Tendl 3, IHH @ TE B | IH He=dd Hl
caTa 39 At Y TS 9 ot 31U I9TE STetat 8 | gorEl! S had @ fob “fotaa gy, fetfee wg”
HE T8I 2 | UTIT Weleh o1 THE 331 M & w1g Y, fisH "ret & 3ol & aHE’ oo ot i
ST} TR T T |
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54.

(12)
TTEY ITeg IR o IMIR W g —

(A) devd (B) dcE|

(C) faceh (D) <

GUTRT ST T IETE IT6g B —

(A) WA (B) 9w

(C) I=Ih (D) T

“Frareh! TaeT 6 9 § ST g8 81 | SR o foTe Sue weg 2 —
(A) wgd (B) =HwHY

(C) wafed (D) Ham

“SATEYIh IT6g, 1 Tl I1eg T o ToTT i |1 SUTHT SR ST, ?
(A) A (B) 3™

(©) 3 (D)

AR’ Teg § WY Yo & —

A) = (B), =

© = (D), Pt =k
“Ffgamel’ wTeg © |l 8 —

(A) o1 (B) < Efy

(©) Tl (D) FhgH
FrafaRea i v @ s & 2

(A) Afs (B) W&

(€) (D) T

‘FTEN I5G § i LTI g ?

(A) T~y qHE (B) IRy §HIE

(C) gg.aug (D) TgowmE

‘g8 Teg H HaH B —

A) FEggamEs gaam (B) TEYdTS o
(C) \ Fstarreres we™ (D) 3TvawaTEs M
o T B H TR 7

(A) cHferTerTees G311 (B) Stifcrermeres |31

(C) TaTE T3l (D) wradT=eh Gl
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55S.

56.

57.

S8.

59.

60.
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FrfarRaa e % STER W I T 55 T 60 T o T oh I GINIT

WTST, €, TEIET 3T & <hl WTaHT ol TFT T <oht & HehlvidaT § §=T o1 Fehal & | Tft
TS TP HT 2 ATTY T  Fifeh 37 Tft Treeni b1 31f&iea Tg & HrR0r & g B | Ty & a1 fafim
qTeTd 8, o €, T 8 3R it €, o7a: Y < fod U gn T smensii &1 i qo T8
T =R | wifecd gR U e wvd § Fih wifecd HIE Hedi 1 qT S o fRAre § |
ag g o1 Terftr=r ot o foraifora =i evtan | “shferar <Y s’ & strert 819 6 arfis B, dw
SHIcT 1 Hlfecd shi 317 Tanati R STeH! i 3TTeHt & ST ST Tehdl & | I8 HRARY ot g3
2 T gHehT oA Ture 3nft fewrg T <ar | her 3 wifEed w1 3R Irfies UER-Te g
IIfET | HAUTST Hig-FHeH, HaTe, VAR qon ==i-araisti & g T o3l §, T e
3T |HEl T STATERYT ST SAER 3 | FHTER, TH-Then, Sl gasin e 3Tl arem
Ig % B TE § 3T geh1 31e oft ug T B | Tt X A gremr’ wfieR wfie safer i St
AT & AT TY & Ui g6 Toa 81 o foTe i et & | 8l IohR o 9amd Aafg dresiieh
TEATY, HTfged TEmd i dl gL T ! &5 Tehd o G H §19 Tohd @ |

“STferIT STec kT Tehareid BT :

(A) S (B) S

(C) St (D) Snfd i
=3

Temmadt’ wree 1 A B

(A) Fhier (B)./A&raTet

(C) uEsE (D) 3FrTd

“FehT T ¥t U &1 2 |7 35,91 1 i T hTeA 8 ?

(A) TS gqqH (B) 3T S|

(C) qui FaHH (D) | IA9H

‘o’ 3reg & —

(A) e (B) Yfeam

(C) TIERie (D) ifem

‘sAferd’ 3feq o1 Tgaa €Y B :

(A) “=fads (B) Hfdacd

(Chy, St (D) =t
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Words that are understood and constantly used form

(A) limited vocabulary (B)
(C) passive vocabulary (D)
Dr. West’s comprehension test was

(A) non-linguistic (B)
(C) comprehensive (D)
Variables can be interchanged in

(A) Simple substitution (B)
(C) Grammar (D)

active vocabulary
constant vocabulary

linguistic i
structural

Compound substitution
Phrases

‘New words at early stages should refer to objects and actions which can be shown and
demonstrated in the classroom’ is a precaution of

(A) Structural Approach (B)
(C) Bilingual Method (D)
The exercise of listening skill is

(A) Sports commentary on a radio (B)
(C) Pamphlet (D)

Situational Approach
Direct Method

Advertisement board
Poster

Which one of the following is a measure to improve bad handwriting ?

(A) Use of ball pens
(C) Proper posture

(B)
(D)

Wrong habits
Writing carelessly

is not a technical €haracteristics of a text book.

(A) Proper spacingand margins (B)
(C) Lengthy texts (D)
‘Blackboard’ is‘the aids for teaching.
(A) technical (B)
(C) modern (D)
Audio#Visual aids save

(A) ‘méney (B)
(€) " cffort (D)

Students improve their critical thinking in

(A) “peer assessment (B)
(C) cloze test (D)
CCE is carried out in classroom.

(A) strictly (B)
(C) informally (D)

Good quality white paper
Readable size of the letters

cheapest
physical

interest
verbal input

portfolio
writing tests

formally
timely
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42.

43.

44.

)
CCE is not successful in
(A) private schools (B) crowded classrooms
(C) small classrooms (D) government schools

For a good test in English
(A) language must be lucid and clear (B) the text-books must not be used
(C) the questions must be complex (D) the questions must be simple

‘Matching Test’ is an example of
(A) Short answer type (B) Long answer type o E'
(C) Essay type (D) Objective type =

Read the passage and answer the questions (Q. Nos. 45 to 49) that followa:

45.

46.

47.

48.

49.

A marriage as early as that was the last thing on her mind. She thseatened her parents
that she would never marry if she did not get a proper edueation. She left home and got
herself enrolled in a school in Delhi. When her parents refused to,pay for her education, she
politely informed them of her plans to earn money by working par-time to pay her school
fees. Her parents then agreed to pay for her education.

The synonym of ‘refused’ is

(A) granted (B) denied

(C) permitted (D). allowed
The antonym of ‘politely’ is

(A) courteously (B) “humbly

(C) rashly (DYywfangry

The correct spelling is

(A) acadimision (B) academician
(C) acedamician (D) academision

The verb form of ‘enrolled™1s
(A) enrol (B) enroll
(C) enrollmeént (D) enrolment

‘Part-time’ stands for
(A) working less than standard hours (B) working in parts
(C) working in,obligation (D) working for no remuneration

Read the passage carefully and answer the questions (Q. Nos. 50 to 54) that follow :

50.

Friends had conjectured that the bear would not recognise her. I had thought so too.
But while she was yet some yards away from his cage, Baba saw her and recognised her.
He howled with happiness. She ran up to him and petted him through the bars, and he stood
on his head in delight.

‘He howled with happiness.” The underlined verb is in tense.
(A) Present Simple (B) Present Perfect
(C) Past Simple (D) Past Perfect
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52.

53.

54.

55S.

56.

57.

S8.

59.

60.

(16) PL-2
She ran up to him and petted him through the bars. The underlined word is —

(A) interjection (B) conjunction
(C) adverb (D) preposition
Choose the conjunction :
(A) her (B) within
(C) the (D) but
. . [= 2]
The determiner is et
(A) and (B) had
(C) the (D) wp
Choose the correct comparative degree of ‘happy’
(A) happier (B) happiest
(C) more happy (D) most happy

Choose the right question for

She sold all the articles for no profit.

(A) Did she sell all the articles for no profit ?
(B) Did she sold all the articles for no profit ?
(C) Does she sell all the articles for nogrofit.?
(D) Do she sells all the articles for no prefit,?

Choose the active voice of

Saina had been supported by her maternal aunt.

(A) Saina supported her maternal aunt.

(B) Saina’s maternal aunt supported Saina.

(C) Saina’s maternal aunt had supported Saina.

(D) Saina’s maternal aunt'had been supported by Saina.

The saint chanted, “Ged1s great.” The indirect speech of this sentence is
(A) The saintgaid thatsGod is great.  (B) The saint told that God was great.
(C) Thesaint said why God is great. (D) The saint said whether God is great.

The word for the phonetic transcription / I'mi:dratli / is
(A) midiately (B) immediately
(C) ‘"imitate (D) immediate

The number of vowel sounds is
(A)W8 (B) 12
(€) 20 (D) 24

‘The knowledge can be stored in mind permanently.” This principle is termed as
(A) Aptitude (B) Gradation
(C) Concreteness (D) Selection
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31.

32.

33.

34.

3S.

36.

37.
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HEpaT

313 T e |f= |
g I3AT: GHIGA: |
T@fgd venfise yefamin e
foraT gt g |

(A) Toar s geafa | (B) Torar e sl |
(C) Tua &t et | (D) Toar o spefet |
AT Tg;: TR TS FENEIA |
(A) T =5 I (B) WA= A
(C) W= YAt (D) TR 9 YRATH
FET: TTFT U7 30 WIS I TN |
(A) Y (B) W
(C) (D)™ =
[EERINSEGES | frarreer gfd % |
(A) rTesfd (B) 3rd
(C) Tresfd (D) oM
“AeereIo SRR el o farfery wnaata
(A) THTERIY (B) SATTHARTHATSTYR
(C) wcagfefey (D) dTaterTafafen
“TeI e WA 3t = 7
(Ady, IETOREH (B) UTSISHT
(€) 3ferm: (D) TR
FEh AT TET ST hid SIS ?
(A) 35t (B) =Tk
(C) w= (D) <@
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38. EEHAIEHUR AT % TIOTOE: ?

(A) vIMUE: (B) W=

(C) widepfd: (D) @H-3TheE:
39, ToATET SHTHIShT STCey ITeTehTaRIeTTaT: JHIEe: $3 A ?

(A) Terfgaudiemamy (B) Tifgesrudiemm

(C) wrnfireRudiemm (D) TEATIdEET
40. EEHANHUR TG TR —

(A) e fag: (B) Toramefietaran: fagr=:

(©) = fagr: (D) forgiew fagi:
41. STEATIY: YT A 3R —

(A) Trfteom (B) ety

(€) frm: (D) SliamuE
42. ST STAfieRitey Hivermfag —

(A) T, B) #em

(C) dr=H (D) YA
43. GaaeaTgA fereRe gt fohg wafa ¢

(A) TEHATRETY (B) wTSurg

(C) *EvH (D) [

44. ‘eI vuS Geafor e anfyd wmmie -
(A) dol (B) &#HIHOH
(C) &, (D) %o,

FrafaRean, Safad Temem STUThe TeT: (45-49) THTERT: —

T WA T G | WA TR e IRmIT: TErTera 91 Tmferrst: forrsid | gferot 319: JHgT:
HAHH: ITEIETe hai-d | T3 TR0 TgHede U9 ShAThAR! W &6 31 | 319 feemem =
e wnfafaaesTe: 31U wufad: STd: | 31d: 9: Tg il Tg Taq §uy 3UTTesq | 3T T
UfergTfires wimifersh amaTfres = Md add | Tehd: Tived g v |



PL-2 (19) A

45. “HgHRIA” 33T o1 favfad: ?

(A) ol (B) Tt
(C) =geff (D) |
46. “TTRS:” 3oda Gi-faeae: el |
(A) T + feRrt: (B) T + 3MfeRTSt:
(C) T + AR (D) TH + 3R

47. “foerd” 3009 &: AhI: ?
(A) T ABR: (B) T THN:
(C) &g aHR: (D) fafuferg et

48. “UvTfaa:” 3 h: T : ?
(A) sl (B) o%
(C) = (D) 39

49. “caEvf:” 3o % TEE: 7
(A) FIIE: (B) dedey:

(©) wEshfz: (D) -

Frferfaad safsd marem sariha Hefgan: T (50-54) FuTeEr: —
IRITRT: ST TEATHIETGH, IR, NG ferd Saav Teeherd THeeRReH = Jiaed
gt | fovafeaeray Smifesrrdev -t giiuey Sdiemsematy SeemesHTe eeiHiamde
e |

50. “SHYC (EuF o fawfea: ¢
(A) SEI (B) u=r
(C)N U (D) gt

51. “gwai" 3o ATqUEd —
(A) & B) ¥
© " (D)
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(A) Tormor (B) foursm
(€) 3I=33q (D) «igEIH
(A) gfeesy (B) qEhicrE,
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‘I’ 37 WEIfgade o: i 7
(A) TOTER: (B) dradfe:
(C) vy (D) dfgEfa:
STeTeh: Jdeh Yaid | 301 tetgaue fafufergershred wefd —
(A) w3g (B) 93T
(C) 3M93q (D) ufssafer
“guurgfd:” 3f FERd L) TS TP ?
(A) 85 B) 96
© 78 (D) 65
I gfa avfer SR fy 2
(A) T (B) 308t
(©) a9 (D) wef
FNfefaay g g0t &: ?
A) = B) =&
© D) 1
3T e —
(A) S (B)
(Cy, ST (D) e

“Trgfcl o TTY TR TET TR S TR TERATIATE o —

(A) TZYd: |8 TAY: 373 AMAaH |
(B) Trgufem wg wmfd: 3T |
(C) TgHfeHT T8 T SEHTAEH |
(D) T | T ST |
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SECTION - IIT
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Choose the correct Modal Auxiliaries to fill the blanks for Q. Nos. 61 & 62 :

I swim across the river when I was young. (ability)
(A) can (B) may

(C) could (D) might

I thought he be at home. (possibility)

(A) might (B) may

(C) can (D) will
Prohibition is ‘gall and wormwood’ to distiller.

Here ‘gall and wormwood’ means :

(A) helpful (B) hateful -
(C) hopeful (D) wonderful e
He ‘stood his ground’ against adversary. '
Here ‘stood his ground’ means :

(A) stand still (B) did not fall

(C) maintained his position (D)4 maintained his game
Petrarchan Sonnet is also known as :

(A) English Sonnent (B) “lItalian Sonnet

(C) French Sonnet (D), ¢Shakespearean Sonnet
Plosives consonants are :

(A) |p,b,t,d| B) [t |

(C) [m,n,n| D) [£v,6,0]

Which is palatal consonant ?

(A) |h] B) [0]

© 1jl D) [1]

The phoneticg@ymbol for underlined letter in the word ‘tile” is :

(A) Jer| B) [or]

©) |Ad] (D) ar]

Phonetic transeription for the word ‘hang’ is :

(A)  |heing | (B) [ haen |

(C) (heng) (D) [ hom |
Phoneticitzanscription for the word ‘jester’ is :

(A) [dgesto(r) | (B) | jesta(r) |

(O | dzetsta(r) | (D) |jelsta(r) |

Which one of these is not related to passive vocabulary ?
(A) words are recognized.

(B) words are understood.

(C) words are often used in speaking and writing.

(D) words are never used in speaking and writing.
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Motivation is a process of :

(A) arousing interest (B) maintaining interest

(C) controlling interest (D) all of these

Communicative approach to English teaching means :

(A) Informal approach (B) Group competence

(C) Communicative competence (D) Communicative appearance
How many components are essential in the process of communication ?
A) 3 B) 2

<€ 4 D) 5

The communicative approach in teaching of English has been practiced and developed in :
(A) India and England (B) Indonesia and Japan

(C) England and America (D) China and Japan

Multilingualism in classroom can be used to : (Choose the irtelevant option)
(A) teach all subjects

(B) teach about diverse cultural groups

(C) teach only languages EEE
(D) teach the lesson of equality between cultures &5

Which one of these is not a part of remedial teaching ?

(A) Teaching afresh what has not been taught caglier.

(B) Teaching afresh what has been taught carlier.

(C) Suspending the part of learning themew, itcms.

(D) Preference to reinforced practice of forgotten parts introduced earlier.

Which one of these is not a challenge ot teaching English ?
(A) Determining the goal of language teaching.

(B) Several methods in language teaching.

(C) Large class size.

(D) None

Written Tests and Examinations are not meant to test :

(A) Vocabulary (B) Translation
(C) Pronun¢iation (D) Composition
The concept of evaluation was introduced by :

(A) Dr. West (B) B.S. Bloom
(C) Thompson (D) Wyatt

Read'th¢ following passage and answer the Question Nos. 81-85 :

‘““Wind enetrgy” is derived through a process where wind is used to generate mechanical
pewer or electricity. Wind turbines convert the kinetic energy in the wind into mechanical
power, which can be used for specific tasks (such as grinding grain or pumping water). A
generator converts this mechanical power into electricity.

¢ ’ may be an appropriate title for the given extract.
(A) Kinetic energy (B) Electricity
(C) Generator (D) Wind energy
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Fill in the blanks with appropriate linking devices which are given below : (for Q. Nos. 82-83)
Wind is used to generate mechanical power electricity. (According to the
passage)
(A) either —or (B) but-—also
(C) neither — nor (D) so-—as

Turbines generators are used to convert energy. (According to the passage)
(A) neither — nor (B) both—and
(C) but-also (D) as-—as
A generator with turbines mechanical power into electricity.

Choose appropriate verb to fill the blank :

(A) convert (B) have converted

(C) converts (D) are converting

Mechanical energy and electric energy the different forms of energy.
Choose the correct option to fill the blank :

(A) are (B) s B
(C) have been (D) was DL

Read the following stanza and answer the questions i(Q.Nos. 86-87)
What this life if full of care

We have no time to stand and stare ?

No time to stand beneath the boughs.

And stare as long as sheep or cows.

Choose the correct rhyme scheme 1 the abeve stanza :

(A) abcd (B) abba

(C) aabb (D) baba

Which literary device is ssed,in the second and third lines of the stanza ?
(A) Alliteration (B) Simile

(C) Metaphor (D) Personification

In Saxon strefigth,that abbéy frowned.

Which figure of speech is used in the above line ?

(A) Metaphor (B) Simile
(C) Personification (D) Epigram

I must confess that it my quest, I felt depressed and restless.
Which figure of speech is used in the above line ?

(A) Personification (B) Assonance
(C)y, Metaphor (D) Epithet

Thy soul was like a star, and dwelt apart.

Choose the correct option of the figure of speech which is used in the above line :
(A) Personification (B) Metaphor

(C) Pun (D) Simile
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H&Y $ Fu fodt I, €8 et fa3mg »mdts, S9d,am -8 3 v feg Afas dss ==t 3« 7 |
nifadft fazre Uam g 79 widls st I |49 fal € TTa0 HIds 9967 AHTH § HY €8 B U &
Ford It T | wifadft 99T HEY © Jarg G HeHTae! I W3 HEY S 3 YJaT § 98«6 J9d! J, fan
T HOY %Td WHSS ANS A'S @78 fia e fed™d Ao 97 J | 4B I8 e &=y 94t fag
fode 28 o1 9gyd Af3dTd Afan™ g 7S |

81. ‘IHg = feddt wee J°
(A) fagdt (B) frgadt
€ I=8 (D) FHt w3

82. »AISIEAd ST HIC J :
(A),, ATEdTg (B) 4Y<H
© e (D) »HI=

83. ‘U3’ HEC T EI-NIGI HEC J
(A) TEIEHIT (B) M3
(C) o= (D) &u
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84. ‘IBTE WYL T AHGIEA e 9< ¢

(A) 3329, 79 (B) 3939, 78S

(C) 3I3<d, HITH (D) 339, TTHT

85. ‘&Y HY< TSI 9eS :
(A) "M (B) I (w3
(C) wHIe (D) Tt

(86-90) J& fod Ife-de §UF I AT S 499 86 390 ST T G337 e : -
Har fde damg = I Sar,
2 YEHS AT It &Y |
W IQ AIAI 3T HS UR,
Tl yrgH & 391 Hefhof &t |
It S92 7S nigrdhort &t |
et fag I niz ot &t |

86. Sz afe-devTragcd:

(A) WI&T @B) foust
(C) frHaust (D) €3

87. a3 afe-d= T Ind:
(A) H3IH (B) »<g3IH
(C) J3eT TN (D) fHarg gw

88. CSa3Tfgsde T ie-gudJ:
(A) w3 (B) HdEHT
©) =9 (D) wee

89. ‘FTMFEILT WITI :
(A) <ge (B) faguwst
(C) "uds (D) <9
90. It f3are A wigvdhof® Bt 3 fIg »me wee “wiadh” Tr Eae wigg J
(A) gt It SIdtart (B) »igt Ehoff Uit
(C) wgTgwg (D) Je



PL-2

61.

62.

63.

64.

65.

66.

67.

68:

(61)

WS — 111
LML 1T
doxRIdl

AL VSHL §E 30 WAL 8.
€35 UL el AL s0ovAdA 8.
AL (el @S dlal.” disael $3U0L dsuzuAL AR 585 © 9

(A) 2 [k @ aarll. (B) il el @ etel.
(C) il el @ aal. (D) @il (el + Q.

(AR AL, SIE 206 dRg Bl WAL S DAL UR GIR gAML dor s1SHL Blod 0y sl 2
A2 s RugAl GuaibdL 24 & ¢

(A)  &AU(ARM Rugl (B) 2tel[ARi gl

(C) R[ARIH RugrL (D)  AdgREL Rigeisdl

‘e 2L AV AL BAL USRA 6 ?

(A) st (B)a. W18k

(C) [Hg=uel (D), suL

O U061, UOEUHEL S ALzl ASAlABIH Sl ARUA R 58 6 ¢

(A) 3901 AR 2 (B) Getauradl 2

(C) AP 2 (D) [Bulasel i

AR 2006 AR SAMSIRAL S ¢

(A) dg&d (B) &l o
(C)  ded (D) isuaL-le g
ARl sSRizteL Beld Flenadl sl ¢

(A)  AVAA (B) oyl

(C) -zdlsrol (D) Mvse

[Qene2Al-l suAlGaA [Asuiacl Wiz 56 WA HEEIY 61 & ¢

(A) ‘udists (B) U

(©) W=¥a (D) G

501 (el Ao weld e ARAR1IERL 58 cllotd URILES ¢
(A) A gl R[S dotss Guldll ©.

(B)  “rHi~u2ll [ARre” Yol Gl

(C)  cunRal-l A2 sl A0l

(D) [l g1t [Rig1el AL 249 8.
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NN ~

Hlcdld WS 6lL0s €A €, 2A Sl USIRL UL ES ¢

(A)  [BacHs e (B) 2uloss el

(C) =2UeEs culL (D) slaladl cumt
HUEUML [R1ELAL MAH &g 561 ¢

(A)  lusel (B) U -lcHsdll

(C)  adslRs Gulerd (D) Gl A U
Al HigewL Slrlel-Al 01 51 SA D ¢

(A) 3L, U, QUi Al (B) AL, AU, Qi sUA
(C) AR, U, A, A (D) L, AuiA, diA, su

A2 8 RU- 3, ULAALHL SLAL AHLAUL 2L € 9

(A) 2URSLER B) elasi+ ERE
(C) 5342 (D) SRS A
g YReAs L YO o ARl s 6 ¢

(A) sl UELA s3llL (B) ed-YeL el AL
(C) gl di MR-l (D)% ULl Al Hi2-lL

-~

‘sAcl 1 sul-l sell © il AR UL AL sleuRiztsL uaerdiAl 516 B1s 2L
oLl

(A) MUl B) sl

(C) WPl HHA (D) [l

HelsA Fs1orl ReilBis AL AR 58 D15 olloidAl AHIEAL AU S ¢
(A)  eailds ugfzil (B) aildls el

(C)  HeAls Atul (D) U dd WRad-

(Floixt UsR-AL WAIALMAULEL §R 53Ul HI2 Bl USIRAL WAL RUAL SRAHL 241 € ¢
(A)  wlsBLusR (B) AUELUSR

(C) 25LGRUSR (D) SlLUSIR

351 AALALSAIZIHL AR 58 218 SUZLAL UM 1AL UL 21l ¢

(A) Yol atssl sul2l (B) 2yl Yo 52l

(CYN, st Y4 5412l (D) Uge Y 512l

AL, A SLUCA HiZrl HEAUIS 5H HIUESHL ARARI] 51 el25lAl AL AL ¢
(A) Yl (B) 2yl
(C)  ACERSIN (D) ygedll
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79. 02 oirladl dvid AR 56 ollotded UEAAN w2l AAAHL UL ¢
(A)  Sqil, AERL A UM (B)  [dnard, Sl 2 UHIAL USR,

(C) UHALUSR, [dvdrd 24 [dewell (D) [Avriarg, Sl 24 [AsimBisid,

80. {lA-iall 2Agug BauREL W0, SIE A8 WRIRS sIRELvRLL.
(A) S (B) &&d

(C) sl (D) =A™
A2 2AUE LA AR U 5HIS 81 2L 831 G @Vl :

YRtslll Hall HirtdlAdl arasaRHl HeaAl (L MA@, Ruis sdl, “§ ARSHL MEL AR
YRSl LA 53181, IR0 S dHAHL Deel ed 7% df al AR ARAM 2l otll o3l
RS54 ‘Unto The Last’ YeisHiall el AcuaeAhiizul Hol ¢dl. oldl 244 cudoid oydl
YralslHil ald-l A48 dlsid Get 29ad Hiel U HAL €L 6. AHRUL, HELHRA 24 ¢Hldd

oyell UAA HIRA A5 251ell AALHL HETAAL CLIL GLYRAL 6. UYL AL AL 245 €Sl Hi2

TRRUELRLS Al €.
ERE
81.  HirdlHl eAELSARHLSI ALLELA Hecd ol € ¢ .
(A) A, (B) [l
(C) sl (D) MRAR

82.  “Ollxllogel UUASHL UL HOWl ecll.” UMl ‘U’ 2oe-Al A g2l WSl
(A) AU+ BUAS (B) U+ 2AS
(€) AU+ A (D) U + AL

83. et deliaiA sy s 2l s ¢
(A) A UscRe HeTd (B) sl 3l
(C)  a-uRRL (D) dzsld
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AR AU URLLLAL AR UHSHIS 84 2l 851 Bk el :
A8l IAHL M AR HOL A HAL

&1 2L 224 3[AU2 BUR HOL 4 MAL

GRL @l AR DAL Y-l sRaL,

sl AL HIZHL Gl 2443 HOL A 1O

YRR RIS S Al &L,

L UL USRL, AL HLSL A9vR HOL A HAL

ML Al AL, RAAL, ARIRAL ¢ldl

eS| Sl 515l S01R HAL A HOL

AU AL E DA AR 5 AMARL

A AUSRHL 516 SHUGR HOL A HUL EEE
dar-l Hunall {2 o=l @B 2ulka, [=¥3
R AL Y01 US| GUEHR HOL A HUL

5 2l g ¢R1 Al Al 52 9 ¢

(A) sl Ao B) -4kl

(C) Wil sl (D) Agll AL

Uil slAciad A vl 53 20l sl 9

(A)  ddd-dlHyn (B) RULA HOL

(C) Mg LR (D) sUcl AUSRL

Hiadl ollell, ‘A arayR MU S 777 Al SUUUSRAL YA ¢

(A)  &2ls A (B) UMbt A

(C)  u3MARS UdHIH (D) AUUS U
“OLUIR A8 HIg (SR 53 6. sl sUL ACASR 6 ¢

(A) 34s 28R (B) Gclall 2AasiR

(C) BuulAasR (D)  <Adzs SR

‘Y UYUAGIL VA SULEEA CIHIREL S ¢

(A) Hslsledl (B) el

©) [RwiRel (D) ¢Rel

“SHAUL Y AL s 52 USRAL B & 9

(@A) Rlddzs Bulagmel (B) NS [Bi(daimel
(O, Scetus Baldamel (D) AHAUS [Fuildamel
et LS gl lall 9 AL SULUSIR AAYS © 9

(A)  [QRracs (B) [Ascudls

(€) RS (D) eviddlus
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SECTION-1V / @Ug -1V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.
30 QU 1 § 3UEve 31id IV (a) T qen fagm v IV(b) amiiie 18978, Gl ST@vel &
T | 60 Sgfaehedia e # |
gdraeff i IV (a) T qen fomm 31t IV(b) amiises 15rM, faget ==e Siaete stegT - o
P 2, & @ forell weh Sumvg 1 g1 B @ @t 60 I HI SR TR |
SECTION-IV(a) / @Y€ ~1V(a)
MATHEMATICS AND SCIENCE,/ {07 qeIT fasm

There are 60 questions in all in this section. Fhe‘eandidates who have selected this subject

must answer all the questions.

TS | $o 60 I 7 | T sreafofa T g fas w1 = fopan 2 32 wf) wem e srfemd € |

91. The factor of {x*— (x — Y*¥is :

(A) yQ2x—y) (2x* - 2xy +3°) (B) y(2x+y) (2x*+2xy +y?)

(©) x(2x—y) (2 #2xy.= %) (D) x(2x+y) (2x* + 2xy + y%)

et = (- y) YL TR 2 s
(A) y(x—y) (2 =2xy +y?) (B) y(x+y) (2% +2xy+y?) )
(©) x(2x=y) (2x* =2xy-y?) (D) x(2x+y) (2x* + 2xy + y%)

92. The sumsof .two numbers is 22 and the sum of their squares is 404, then the product of
those numbers is :

B) 24 (B) 80
(C)N36 (D) 40
QHEGTT T AN 22 N 3R 3 a1 1 AN 404 B, T 37 T I G & :
(A) 44 (B) 80

(©) 36 (D) 40



93.

94,

9s.

96.
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The sum of the digits of the minimum number by which 1800 is multiplied to get a perfect
cube number is :

A) 2 (B) 6
<€ s D) 4
g =IFaH T TSEE 1800 i T[0T i T Teh Y01 & T T &1, o 37hi 1 AT &
A) 2 (B) 6
© 5 (D) 4

1 1
If a sum of money becomes 20 of itself in 4 yearata particular rdte of simple interest, then

the annual rate of interest is :

(A) 5% B) 7.5% =E3

(C) 10% (D) 2%
aﬁémmwma%@ﬁ@ﬂam%aﬁﬁaﬁw%ém%,aﬁmaﬁaﬁ%a%:
(A) 5% B) 7.5%

©) 10% (D)a. 2%

In how many year(s) will ¥ 2,000 bécomeyI 2,420 at 10% per annum compound interest ?

(A) 2 years (B) 1 year

(C) 3 years (D) 2% years

10% afifeh =kl ST W 32,000 fohe o # 3 2,420 &1 ST 2
(A) 2°9 (B) 1=9

(C) 3oy (D) 2% a9

If the selling price of,7 articles is equal to the cost price of 6 articles, then what is the
percentage loss ?

(A) 7%% (B) 14%%

(©) 13%% (D) None of these

Ffe Taegati 1 fosha a1, 6 TEG3TT o 33 Hod < IS &1, a1 feha Widerd &1 gift 2
(A) 7%% (B) 14%%

© 133% (D) A
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98.

99.

100.

(67)

A bag contains ¥ 20, ¥ 10, ¥ 5 notes in the ratio 3 : 4 : 5. If the bag contains T 1,000 in
total, then the number of ¥ 5 notes is :

(A) 32 (B) 25
(C) 24 (D) 40

Th AAH 20,310,353 :4:5% AT H T | A It H et &4 T 1,000 &, AT 5
F A HE R

(A) 32 (B) 25

(C) 24 (D) 40

If the sum of the numerator and denominator of a fraction is#55 and. the Jvalue of the

.. 3 ..
fraction is FE then the fraction is :

20 10
(A) 35 B) 15 S
Cig:t
5
©) 30 (D) Nong.ef these

i ol fot 35 37 30 & 0 A 55 2 o e AR, 1 Frer 2

20 10
(A) 335 BIN5
(©) % (D) S & IS T
If a transversal intersectsstw®0 parallel lines, then each pair of corresponding angles is :
(A) Half (B) Double
(C) Equal (D) None of these
FTe Teh Ter2ish [T &1 SHICR 3T ol HTdeeg L, A1 T hIVN <hl Tcieh I BIAT 3 :
(A) 3™ (B) I
(C) = (D) ¥ & Ig e

The longest side in a right-angled triangle is called :

(A) Hypotenuse (B) Perpendicular
(C)"Base (D) All of these
FHRIUT PIVS W Ted S T haelld! & :

(A) (B)

(C) 3IER (D) 3 meft

A
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If in the given figure PS||QR, then the value of ZQPS is :

Q ‘ R
(A) 36° (B) 90°
©) 54° (D) 100°

Ife fed T e W PS||QR &1, @1 ZQPSHIAF B :

=

Q - R OF'%5
(A) 36° (B) “90°
(C) 54° (D) W00°

The sum of all the interior angles of ajpentagon is :

(A) 360° (B) 500°
(C) 450° (D) 540°
(A) 360° (B) 500°
(C) 450° (D) 540°

The radius of'a circle is 6 cm and P is any point which is 10 cm away from the centre. The
length of'the tangent drawn from P to the circle will be

(A9, 6lem (B) 12cm

(C) 8em (D) 10cm

Teh Gt %! 1591 6 4t 3 AT P hig frg @ S ohg & 10 Tt gT R | P & o W @il 718 TR
e et B

(A) 6@ (B) 12 @

(C) 8o (D) 109
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104.

105.

106.

107.

(69)
In a right-angled triangle, if its sides are 15 cm and 8 cm perpendicular to each other, then
its perimeter will be
(A) 40cm (B) 38cm
(C) 46cm (D) 50cm
T FHHIU I H, A 3Heh! YT 15 HEHIR 3TR § T Th g8 o wad ai, i
i B

(A) 40T (B) 384
(C) 46T (D) 509
The arithmetic mean of 1, 2, 3, 4, .... n numbers will be :
n+1

(A) 5+1 ®

n n-—1

2 [=] R[]
© 3 D) — =k

1,2, 3,4, ....n GEAT3T T GHT= HIET BT :

w 541 (B, L=
1
© 3 Dy~

The difference between the mpper limit and the lower limit of a class is called :

(A) Frequency (B) Mode

(C) Class size (D) None of these
Tereft ot <ht it T e f3e i 1 =R HeEard §

(A) STEERAT (B) dwgcdh

(C) o " (D) 3TH | s T

The,co-ordinates of the origin are :

@ K1 B) (-1,0)
(C) (-1,-1) (D) (0,0)
A 1,1 B) (1,0

© 1-D (D) (0,0



A

108.

109.

110.

111.

(70) PL-2

If a dice is thrown once, then the probability of getting a number greater than 6 is :

(4) 0 ®) <
© 1 D) =
Jfe Teh TET Ush SR IDTAT 1T &, ol 6 T ST T&AT 3T H TRepT 2
(4) 0 ®) <
© 1 D) =

Which of the following statements is not related to the nature of Mathematics ?
(A) Mathematics is study of numbers, places, measurementsyetc.

(B) Mathematics has its own language terms, concepts, fofmulas, etc.

(C) The knowledge of Mathematics is not logical.

(D) The knowledge of Mathematics is the same in the'whole world.

et & T 1 oo I <6 ST A e A 2 7 o
(A) TITOTE T RGNS, T, WO STT(C ohT STEAI Tehdl e & | AL
(B) TIfOTel <hl STt AT Ue, T, T S Bl € |

(C) IOt <1 S dTfeheh &1 BT 2 |

(D) TIfOTd ST ST EHET ST H T €9 BUEMI 7 |

“Mathematics is the language in which,God has written the Universe.” This statement is

told by

(A) Galileo (B) Locke

(C) Bertrand Russell (D) Lindsay

“arford arg T 2 TR TEmer 5 9egel STa A1 SRIve o for@ feun B 17 ug e R W ¢
(A) Ticfiferat (B) @i

(C) WU (D) fomea

According to Napoleon — “The progress and the improvement of Mathematics are linked
to prosperity. of the state.”

This, statement corresponds to which value of Mathematics ?

(A) Disciplinary value (B) Social value

(C, Aesthetic value (D) International value

S % AR — “nifira 6t I=fa qen ghg g K T & TElid B |7 98 HeH T %
TohH Jour T Hafa g 7

(A) ATEATHS G (B) MR g

(C) Hieate e (D) ITFHE g
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112. The author of the book “GANITA SAR SANGRAH’ is :

(A) Aryabhatta (B) Shri Dharacharya
(C) Pythagoras (D) Mahaveeracharya
T TR T8’ ATHeh T o oT& @

(A) Fing (B) #ff W=

(C) UTEYNTRE (D) HEERETE

113. In which method by moving from ‘Particular to General’, we gen€fate formulas in
Mathematics ?

(A) Deductive Method (B) Lecture Method

(C) Inductive Method (D) Project Method

form fafy & “farfre & wmm=r <t 3T ST 5T W TfvTd o <31 o WL & 7
(A) T fafea (B) =M ity

(C) 3mmA fafy (D) ASHLigTe

114. The knowledge of which of the following is most helpful in painting ?

(A) Geometry (B). ‘Statistics
(C) Arithmetic (D) “Eunction
Forrferfen & & et s oo wgifpeers 2 7 e
(A) TEmm@ B) wiferh )
(C) 3T (D) e

115. Which of the following.is not an‘evaluation method ?
(A) Interview (B) Preparation
(C) Questionnaire (D) Check-list
frfafga s @ H Hhus qearsh Tiaie T8 2 ?
(A) HEThR (B) Rl
(C) Feeel (D) <H-faee

116. «I'he evaluation process is related to :
(A)%, Educational objectives (B) Evaluation method
(€) Learning experience (D) All of these
ook Tfshan Teferd ardt @
(A) e v @ (B) Yeuieh Ufafyr &

(C) femmm Igwa & (D) wafhd
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The purpose of diagnostic testing is :

(A) To guide learning methods.

(B) Classification of students according to difficulty level.

(C) Detecting lack of achievement in particular subject.

(D) All of these.

frerTee wierT o1 e B

(A) 31T Ugiaal o1 fem-Tesr & |

(B) hISATE T o SR U BT T IT1ehT0T HAT |

(C) o fomiw o Iueifets i st o1 aaT o1 | E o
(D) F Tt | "

Which method follows the principle of a process of combiningsdifferent statements or
parts to get something new ?

(A) Lecture method (B) Heuristic method

(C) Analytic method (D) Synthetic method
foram fafer o 3 Fo1 w0 o o fafy=r AT 9y W <6 S i gfskan & fagra 6

AT B 8 7
(A) = fafy (B) wIifees fafy
(C) Tergetwor fafy (D)™ wveryur fafyr

If (\/3)” x 92 = 3% x 3/3, then the value of x is :

(A) 4 >
C) 6 (D) 7
a2 (V5)° x 9= 3 W, A 2
(A) 4 (B)
© 6 (D)

1 1
If (x ~ —) =8, then the value of (xz + _Zj is :
% x

(A) 64 (B) 68
(C) 766 (D) 4354
Zlﬁi(x—i)= Sﬁ,ﬁ(xvaé)TﬂﬂF{%:

(A) 64 (B) 68

(C) 66 (D) 4354
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The value of x in the given diagram is :

Normal
Incident Reflected
ray ray
30°
Plane Mirror
(A) 15° (B) 30°
€ 90° (D) 60°
T2 T T o x o1 WH T
sifirers
Fmafad qEfdd
fotor feptor
30°| y
THdA v

(A) 15° (B) %, 30°
(C) 90° (D) 60°
The frequency of a sound source is'90 Hz. In 2 s number of vibrations will be :
(A) 25 (B) 50
(C) 100 (D) 200
foreft et & <t 3Tmaf §0MHz 2 | 3596 2 s § P <hl 9 g
(A) 25 (B) 50
(C) 100 (D) 200 ERE
LED emits Light R
(A) Only green colour (B) Only red colour
(C) Ofnly yellow celour (D) All of these
LED YehTs1 IeHfSid a2 :
(A) Fhaasqu (B) had AT T
(C). Haet HieAT T (D) 3 meft
Which of the following is not a member of the solar system ?
(A) “»An asteroid (B) Meteors
(C) A satellite (D) A comet
Tferfad o & 1 91 ufEr w1 ae= T8 § 7
(A) e (B) 3TN

(C) ImE (D) YHg
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125. Laboratory method is based on which principle ?

(A) Learning by seeing (B) Learning by doing
(C) Learning by rote (D) All of these
yamTTer fafer fora faga w anenfa @ 7
(A) <G HIEHT (B) heh EiE
(C) TRt Hi@T (D) Ot
126. Synthetic fibre among the following is :
(A) Nylon (B) Cotton
(€) Wool (D) Silk
frferfiaa @ sveifva W g
UNBEIESIE (B) U™ =
(C) o (D) W™ (v
127. The symbol of potassium element is :
(A) P (B) Po
(C) Pt (D) K
T e 1 el @
(A) P (B) Po
(C) Pt (D) K
128. Chemical formula of aluminium nitrate is.:
(A) AINO;, (B) “AJ (NO,),
(C) AL(NO,), (D)=AL(NO),
T ATgde o1 THEf g R
(A) AINO, (B) AI(NOy),
(C) AL(NO,), (D) AL(NOj),

129. Which of the followingmmixture can be separated by the winnowing method ?
(A) Mixture of grain andhusk
(B) Mixturé ofigrain andépebbles
(C) Mixture of' wet sand and pebbles
(D) Mixture of sand and water

fraferfad ® &ee an frsror frsaram fafyr gro geres foren S ospar 2 2
(A) ST=ERUT Q9T ¥& 1 T (B)  31=TehUT T Shehg ohT THST
(C). et Tt qem shehg o1 fhsyor (D) Tagt o urht =1 fason

130. Synthetie indicator among the following is :

(A)%Litmus (B) Turmeric

(€) China rose petals (D) Phenolphthalein
et & G g 2 -

(A) ferenm B) &

(C) T8 hi ugfear (D) R
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133.
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135.

136.
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The pair of green-house gases is :
(A) 0O,, CO, (B) CO,,N,O
(C) N,,CH, (D) 0,,H,0
Ra-EiE R I e
(A) 0O,, CO, (B) CO,,N,O
(C) N,,CH, (b) 0,,H,0
Audio-visual teaching aid among the following is :
(A) Radio (B) Chart
(C) Television (D) Blackboard
frfafea & 9 y=r-g9 Mg @eq 3
(A) el (B) = ]
[=)%"3
(C) e (D) FmIE
Which bacteria is found in roots of leguminous plants ag symbionts ?
(A) Rhizobium (B) Bacillus
(C) E.coli . (D) Achromobacter
TRfHTE de <t TS | I T ST FEsie o F9 WIS & ?
(A) TsSifeE™ (B)q, SiTETeH
(C) 3.HITS (D), TsmHEIeF
Which edible part is modification‘of stem ?
(A) Turnip (B) Carrot
(C) Sweet Potato (D) Potato
7 o @ Sl =1 visy el a1 ER 7
(A) e (B) TSR
(C) i< (D) 3]
Which of thedollowing is a simple tissue ?
(A) Xylem (B) Phloem
(C) Sclerenchyma (D) None of these
71 5 9 T B Sk @
(A) ™ (B) elITH
(C) ‘EhoRHeRTZHT (D) 8 9 g &l
Which of the following is not an air pollutant ?
(A) “»Carbon mono-oxide (B) Nitrogen oxide
(€) Methane (D) Oxygen
e & & e g gk T R 7
(A) T HHI-3FETSS (B) TEIISH SATHTES

(C) ©d (D) 3taEfem
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Sacred groves are found in

(A) Khasi and Jaintia hills of Meghalaya
(B) Aravalli hills of Rajasthan

(C) Western ghats of Maharashtra

(D) All of these

gfer 39eH 9T S &

(A) WA 6l @ 9 SRR geTedl |
(B) TSTEYM i WG gaid *J@et |

(C) WEWTY % ufgenfi ame o

(D) sHEd

Which bacterium causes pleurisy disease in human ?
(A) Mycobacterium tuberculosis

(B) Corynebacterium diphtheriae EEE
(C) Mycobacterium leprae e e
(D) Neisseria gonorrhoeae

I U Sero] & Hie o e a7

(A) TSRS SRR
(B) HiHaw s fewdars

(C) TIShIaaIEH Tl

(D) e mRfeEr

Which type of sebaceous glands present in huiman skin ?

(A) Apocrine (B) Merocrine

(C) Holocrine ' (D) ’ Eccrine

TG = hl del1d TToaT ig & TR 61 el 8 7

(A) THThTS (B) HitshTsd

(C) Biellshred (D) Thrsd

Disease causéd by deficiency of Vitamin A is :

(A) Night-blindness (B) Beri-Beri

(C) Scurvy (D) Rickets
fefmTA)Bir g T T e :

(A) Adieft (B) sO-s

Q) welt (D) Tk

In, which phase of cell cycle, synthesis of histone protein occurs ?
(A)%G,-Phase (B) S-Phase

(€) G,-Phase (D) M-Phase
SHITITRT sk ShT i E TTare | fFEH T 1 TYATv g1 8 ?
(A) G,-SmeEAT (B) S-Hme®=RaT

(C) G,-STaEd (D) M-JTEeAT
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(77)

When was the Family Planning (Family Welfare) Programme started in India ?

(A) 1947 (B) 1951

(C) 1958 (D) 1960

IR § feR e (afar o) sreishy 6t 3eaTTd e g8 off ?
(A) 1947 (B) 1951

(C) 1958 (D) 1960

Which of the following hormone supports pregnancy ?

(A) Insulin (B) Adrenaline

(C) Melatonin (D) Progesterone
frefafiad 9 @ == a1 M SEed § 98 § 7

(A) wfe (B) ugel

(C) weteifH (D) SREAA

Which of the following is not an example of Kharif crop ?

(A) Cotton (B) Soyabean

(C) Maize (D) Pea E=m
freaferfiea & & =9 a1 @iliw i Bt H1 3w T8 § 2 e
(A) HIE (B) @feH

(C) Haehl (D) #He&L

Which of the following is not a scientific teaching method ?

(A) Anecdote method (B) % Evaluation method
(C) Psychophysical method (D) Questionnaire method
fr=ferfaa o & =1 = v I e fafas@iz

(A) e fafy B) TR fafy

(C) wTelEe fafy (D) weATEe fafy

The main objective (aim) of.evaluation is :

(A) Removal of students errors:

(B) Measurement ¢f students achievement.

(C) Give premotion‘of students.

(D) Diagnosisiand treatment of learning deficits.

YT I HEH See B

(A) TR h Ffeat ferermr |

(B) fveqiferar bt Iuetfeds shi oo |

(C) Tyttt =t W= SeM T |

(D) i St Y 1 FgH Td Iu=R T |

Which teaching aid is not included in the audio-visual equipment ?

(A) Movie (B) Television

(C) Laptop (D) Epidiascope

i H freqor-TgTere A, e -gva Sushtor § afthfera TE 8 7
(A) =t (B) SehfesH

(C) <iue (D) fom-freame
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Correct decreasing order of friction forces is :

(A) rolling, static, sliding (B) rolling, sliding, static
(C) static, rolling, sliding (D) static, sliding, rolling
YT Sl 1 T Tedl HE B

(A) e, wfaew, adf (B) et adf, ®ifas
(C) Tifaes, wAlefes, adf (D) Tifaes, gdf, eefes

An object is moving on a circle of radius R. When it completes half circle, then the

distance and displacement travelled by it will be :

(A) ©R,R (B) 2nR,R

(C) =R,2R (D) 2mR§2R

T a%g R B o 90 W fome 8 | 9 98 STEgT W 8, a1 36 g a9 Hi TS gl @
ferearam grm

(A) 7R, R (B) 2nR,R
=

(C) 7R, 2R (M) 2nR,2R S

A wooden spoon is dipped ima cup of ice-cream. Its other end
(A) becomes cold by thejprocess of radiation.

(B) becomes cold by theprocess of convection.

(C) becomes cold by the process of conduction.

(D) does not become cold.
TRl THEET I STSEFHIH oh TS H GEAT I & | 35T gal o
(A) Tafertor <Y wfshan & shror 32t 2 St |

(B) TergH shi 9fsham o ST 3T & e |

(C) =ITer oht 9k o SRl 31 &l S |

(D) ST & &AMl |
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SECTION-IV(b) / @US — IV(b)
SOCIAL STUDIES / TSR 3T

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

@S A Fo 60 T & | T 31t 3 5o o o1 = forerm 8 38 aeft wroat s st 2

91. Which Buddhist text contains a dialogue between, a king named Avantiputra and a
disciple of the Buddha named Kachchana ?

(A) Deegh Nikaya (B) Khuddak Nikaya

(C) Majjhima Nikaya (D) Anguttar Nikaya

Teh T (=g 3R g & AR e & il Tare 4 & g TAHR, 7
(&) T e (B) G

(©) iz fepm (D) S Frer

92. Which Buddhist text contained a set of rules andsfégulations for those who joined the
sangha or monastic order ?

(A) Vinaya Pitaka (B) Sutta Pitaka
(C) Abhidhamma Pitaka (D) “Jataka e
& s vier # <irg w1 w3 e oA o, forw fet 1 % e 7 e
(&) forrar fores (B)™ g fres
(C) Al fies (D) Ta®
93. Which is included in the®ix school (Shaddarshan) of Indian Philosophy ?
(A) Satyaarth Prakash (B) Vaishesika
(C) Mahabharata (D) Upanishad
T €9 ol S5 Ugid (Sges) o i e § 7
(A) T T (B) a9y
(C) weRq (D) 3ufrsg

94. Who'came torIndia during the Mauryan period as the ambassador of the Greek ruler of
West Asia named Seleucus Nicator ?

(A) Fahien (B) Xuan Zang

(C) “ltsing (D) Magasthenes

QiR=H TR o AT AR Sy ehe o TSIgd o &9 H HRIehIel § WRA i 37T ¢
(A) WIRIH (B) e e

(C) 3fem (D) AR
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State the complete true statements about Arikamedu.

(I)  Ttis located in Puducherry.

(I)  Arikamedu was a Coastal settlement.

(IIT)  Other finds include pottery such as amphorae.

(IV) TItems related to the Greek Empire have been found here.
(V) The kings here were Chera Dynasty at that time.

(A) I, 11, 11 (B) 1LIV,V
V.V, 1 D) V,IV,1
w&mﬁg%ﬁwﬁ@wmmw|

() I8 et | fedra o |

(I1)  ATEhTHS HEwaqul U T |

(1) =& ThIT S8 arel fred § |

(IV) 8T TR AT T & Feiferd aeqy fireft £ |
(V) F&ihusn=nasiy |

(A) LII I (B) HILIV,V

©) 1V, V,I (D) V,IV,I

The Chinese Pilgrim ‘Xuan Zang’ lived in the court of which King ?

(A) Chandragupta (B) Samudragupta o E'
(C) Harsha (D) Kanishka Sk
<t chrefamst “vaa T R TS o SR H T8 9, 7

(A) T (B), ST

€) = (D), fTsh

In which play we find an interesting’deseriptionwof the plight of a poor fisherman in Gupta
period ?

(A) Harshcharit (B) Abhigyan Shakuntalam
(C) Mudrarakshasa (D) Mrichhakatikam

S T A1 T TH It § Teh TR HGITR o T TAHHATET oh GATER hl ST Hal g5 8 7
(A) TR (B) 3fisIH ey

(C) Harua™ (D) Y=OHICHA

Where is the templelof “Bhitargaon” situated ?

(A) Uttar Pradesh (B) Bihar

(C) Orissa (D) Bengal

“freriel” et Afet el T fRa & 7

(A) ST (B) fuzw

©) (E<m (D) =M

Byswhat name are the teachings of Shankardeva who was the main propagator of
Vaishnavism, addressed in the late fifteenth century ?

(A) Vallabh Dharma (B) Krishna Dharma

(C)"%Guru Sandesh (D) Bhagavati Dharma

Uegeell ITATsdl o ITIg § Yehied, ST O o o Y& Yeh U, < IUCHN ! fohd A1 ¥
Helifera feram ST @ ?

(A) ToAW g1 (B) S oH

(C) TEHM (D) et
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(81
What was Khud-kashta and Pahi-kashta in Mughal period ?
(A) Types of Revenue (B) Types of Crops
(C) Types of Administration (D) Types of Farmers
HITeTehTel H GEeh1ed d UTfgehred il I ?
(A) TSRE % TR (B) %HA! % TR
(C) IIMEA % YR (D) Trami & gR

What was the relation of “Manzil-abadi”, “Sipah-abadi” and “Mulk-abadi” ‘during the
Mughal period ?

(A) Part of Book (B) Portion of the Populatioft

(C) Part of Revenue (D) Part of Administration

PIeeha § “HRIe-3TeTg”, “faug-3Tmerdl” 9 “Hesh-3TaTE)” i gae fohad o ¢

(A) T&ih W (B) SHEEAT %

(C) TSTE o YT (D) ST % W

Who got the book published under the name “Stripurushtulna” ?

(A) Tarabai Shinde (B) Pandita Ramabai

(C) Jyotirao Phule (D) Rashsundari Devi

FETdeT A ¥ fohare fohem yeRTfyra shears ? _—
(A) s i B) \dfedtemer Ee
(C) SAfaE Bt (D) T ed gt

When was the parallel government (Prati Sarkar) established in Satara, Maharashtra ?
(A) 1941 (B) 1943

(C©) 1945 (D) 1947

TGRS o AR H GHHTAR TR (Sfd TLhR) 6T TATIHT e 6 T8 7

(A) 1941 (B) 1943

(C) 1945 (D) 1947

Which word is not givendamPreamble of the Constitution of India ?

(A) Belief (B) Faith

(C) Worship (D) Language

T o GG ST SeiRhT § i o1 g a1 feam T @ 7

(A) faeam (B) ed

(C) (3urE-l (D) wm™

When was/Street Vendors (Protection of Livelihood and Regulation of Street Vending)
Act came in force in India ?

(AJ%.2010 (B) 2011
(C) 2013 (D) 2014
Ted | 9 forshan (Siferent weeqor 37t uy fosk fafme) stfufrem e ampgan 2
(A) 2010 (B) 2011

(C) 2013 (D) 2014
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“The Idea of Residual Powers” provision in India is adopted from which Country’s constitution ?

(A) British Constitution (B) United States Constitution

(C) French Constitution (D) Canadian Constitution
“Irafirse wifdaet 1 fHgia’ 1 g™ wRa # fhg < & dfagm | e g 2

A) fafes afaum (B) 3Rt & wfga™

(C) hTE o e (D) STel % TiyaH

In India after the death of President Fakhruddin Ali Ahmed who acted as President of India ?
(A) B.D.Jatti (B) V.V.Giri

(C) Zail Singh (D) N.S. Reddy

TIRA | TSl HEEE 3Telt 3T8He hl Jcg & F1¢ hriaTesh Usufd b &9 HfeRg- s foram ?
A) .. S (B) .. it

(€) it fire D) T.E.E

Which two states have same number of Lok Sabha Constituencies ?

(A) Uttarakhand, Jharkhand (B) Kerala, Karnataka

(C) Andhra Pradesh, Rajasthan (D) Punjab, Odisha

Top &1 Tl 1 SAreha T Fatar - Hl Fe e R 7

(A) ITEE, INES (B) o, B

(C) 3TY e, TS (D) USITE, ISR

Toll free Helpline Number for Children who aretin need.of care and protection is —

(A) 1095 (B)e, 1096

(C) 1097 (D). 1098 e
Tl <hl Gfe U Heg o foTe . 3ceh Roders TR & — if sk
(A) 1095 (B) 1096

(C) 1097 (D) 1098

In India which Constitutional Amendment determined the size of the Council of
Ministers ?

(A) 81 (B) 91
(C) 101 (D) 102
TRd § ford Gfaem Ssnes gR GiEaiye 1 3R Fetfa e mn 7
(A) 81 (B) 91
(C) 101 (D) 102

In 1989 which Committee recommended Constitutional recognition for the local
governmeént bodies ?

(A) P.K.Thungan Committee (B) B.R. Mehta Committee

(C) Ashok'Mehta Committee (D) Sadik Ali Committee

1989 ' fohg =i = T smem o frehml 1 gt g1t wgH s i fwrier 6 ?
(A). . g wfifa (B) .31, Wgan Afufd

(C) SRIe HgaT |iukd (D) @fesh reft wiufd

‘Abelition of titles’ is a part of which Fundamental Right ?

(A) Right to Equality (B) Right to Freedom

(C) Right Against Exploitation (D) Cultural and Educational Rights
IuTfert w1 3q’ for wifeteh TR o few &

(A) TUAT T IRHR (B) Tl ST SATIHR

(C) YT & foreg 3AferepR (D) TTEhieh 31T Sferh e
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113. Identify the correct group of Scheduled languages in the Eighth Schedule of the

114.

115.

116.

117.

118.

Constitution of India.
(A) Bengali, English, Sanskrit
(C) Santhali, Hindi, Sanskrit

(83)

(B) English, Hindi, Sanskrit
(D) Gujarati, Marathi, English

T o | <l 3ATee e | ST Wist % T€ TYg Sl 9gaH |

(A) ST, TS, T=hd
(C) wTet, T&dt, g&ha

(B) 3N, f&dl, w&ehd
(D) T[oRIC, TS, TS

The circle that divides the day from night on the globe is called —

(A) Circle of illumination
(C) Elliptical Orbit

(B) Equatorial circle
(D) Summer Solstice

TAE W IE I S e T T bl Faw1iTd shidt 7, shgardl & —

(A) Seifed o
(O REAPERIEREE
Katabatic winds blows from —

(A) From Valley to Mountain
(C) From Seato Land

STERIET va vafed Bt § —
(A) HTE  ydd il TWh
(C) THE T hi TH

(B) HEREH T4
(D) I AT

(B) FromsMountain to Valley
(D) From Landto Sea

B) “wad FETd il WH
(D) \&IoT & 99z i T

Approximate Extension of the shadow zone'ef S-wave is —

(A) 105°to 145°

(C) 145°to 145°

S—TT o BT &1 T FIqR G & —
(A) 105°F 145°

(C) 145°H 145°

On which bea¢h is Kayal located ?
(A) Malabar €Coast

(C) Kathiawar Coast

AT Tohe e oL feua @ 2

(A) HEER de

(C) ‘“wHifsardis @@

(B) 105°to 105°
(D) 90° to 90°

(B) 105°F 105°
(D) 90°F 90°

(B) Konkan Coast
(D) Coromandel Coast

(B) iU de
(D) HHSHA dC

Batholiths, Lacoliths, Lapolith and Phacolith are related to

(A, Earthquake

(B) Volcano
(D) Gravitational force

(B) SaTeTgE! &

(C) River

ST, AhIferer, ANTIY o TheplfeTd Tralf-ard & —
(A) HEH

(C) @9

(D) TocTHYT & I

A
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Which statements about the “Faience” are true ?

(I)  Faience mines have been found in Mehrgarh.

(I) Faience were found naturally.

(IIT) A gum was used to shape sand or powdered quartz into an object.
(IV) The objects were then glazed, resulting in a shiny, glassy surface.
(V) Faience was used to make beads, bangles, earring and tiny vessels.
(A) LILII (B) ILII, IV

(©) HuLIv,v (D) 1V, V,I

i’ 3 R N B o ol e E 7

() = <l EeH Heve ¥ fiefl & |

(II) S WTehfeieh TR T 9T SITd < |

(1) STe] T Thfeh TeeR o uf <l 7T H FHATeR I8 Squ.sTs S e |
(IV) 39 §T¢ 37 T3 W T Faehi T =ers et off |

(V) i & s, Sfee, 3T oI S S ST AT 9

(A) LILII (B) 1L, W

(©) HuLIv,v (B 1V, V.1 EEE

Which statements are true about Rigvedieperiod ?

() Soma was a plant.

(IT) Brahma, Vishnu and Mahesh wetefhe main deities.
(III) Called Sukta or “Well,Said”.

(IV) Upanishad and Aryanak texts were composed.

(V) Indra was not the"god of' warrior.

(A) LI B) ILIV
<© 1,V (D) LV
rafees i s I TS A FATTA E ?

(I) G Th Y o |

1) (et foo 9 new yqE Saar 9 |

(IT1) "FFTohT TTeTs, IT=S1 TG & STl 17 T |

(IV),, 3UME & 30 IY & T 9 |

(V) %75 3G 1 TH@ <ol & AT |

(A) LI (B) I IV
© 1,V (D) LV
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121. Match the following forests and trees :
Forest Tree
(1) Tropical Evergreen (a) Spruce
(2) Tropical Deciduous (b) Palm
(3) Montane (c) Mahogany
(4) Mangrove (d) Sal
@Mm 2 & @
A) d () (@ (b
B) (© @ b (
€ (© @ (@ (O
D) @ @) (©
fretferfiad ot o 98t 1 gafem HI
9 a8
(1) IS TR (a) B
(2) SwEcsHF v (b) e

(3) wedHE (c) HENH
4) HE d) =
M 2 6 @
(A) () (© () (©®) i
B) () @ ((b) (a) OF 8

© (© @ (@ (O
D) (@ @®) () (@

122. Which of the following is a group of Irén ore belts in India ?
(A) Singbhum (Jharkhand), Bailadila (Chhattisgarh), Nellore (Andhra Pradesh)
(B) Kudremukh (Karnataka), Mayurbhanj (Odisha), Bokaro (Jharkhand)
(C) Bokaro (Jharkhand), Bailadila (Chhattisgarh), Mayurbhanj (Odisha)
(D) Mayurbhanj (@disha), Singbhum (Jharkhand), Bailadila (Chhattisgarh)
frfafigd # §eld |1 ARa A iig 3T Ui FI g & ¢
(A) Ty (FIM@e), sArSar (STEG), etk (318 T)
(B) FoHE (FAfesh), TR (3ifewm), SRl (FREs)
(C) SR (AREE), Selfea (STiiere), Fe (3nfem)
(D) ‘mgtm(Ete), e (sR@e), sefsen (Stare)

123. n whieh direction the Aravalli range extends in Rajasthan ?

(A, South-East to North-West (B) North-West to South-East
(C) South-West to North-East (D) North-East to South-West
Toreor § et geaaTer fohe foum & foega 8 2

(A) cfaur-qd & STr-ufeem (B) SR-UfT=w A gfior-gd

(C) cfeor-ufyem 8 IR- (D) IW-Yd & cfaor-ufyem
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124. Match the following district and climatic regions :

District Climate region
(1) Jaisalmer (a) Extreme humid
(2) Jaipur (b) Humid
(3) Sawai Madhopur (¢) Semi-Humid
(4) Jhalawar (d) Dry

M @ 3 @
A) © b (@ (@
B) @ () @ (O
© @ b © (
D) @ () b (@
freferfiaa et wa sty wewn w1 gafera Hifvw -

e EREIRR
(1) SHeR (a) SHAfq-3Tg
(2) AR (b) 3
(3) HETE WHTR (c) 39-31%
(4) HTAETS (d) =

Hm @ G @
A) © (b (@ (@
B) @ (© @ (O
© @ b © (@
@ @ © b ()

125. Which of the following are correét statéments*with reference to district and projects ?

(1)  Chittorgarh — Rana Pratap Sagar Dand
(2) Ajmer — Bisalpur Project

(3) Udaipur — Mansi Vakal Project

(4) Pratapgarh — JakhamProject

Ay (1),3),4)

(1) TaxiieT® Ao JaHAnR Sid
(2)  ITSTET — ST TSI

(3) ICIYL= T dTehet TS
(4) TG — ST YRS

(A) A1), ()

€) (2, 34

(A) Mustard, Chickpea, Dewgram
(B) % Psyllium husk, Cumin, Cluster bean

(€) Chickpea, Green gram, Black gram

(D) Green gram, Maize, Pearl Millet

Toh wEl o IcuTe | TSTErH T WA H T T 7 7
(A) @i, =4, 613
(C) =T, 11, 3¢

B) (1),2),3)
© (2).03). 4 , D) (1,0, @
e wa giEieH T & gegiriad d A s e o a8 ?

B) (1),(2),3)
D) (1), (2),(4)
126. In which'€rops Rajasthan is the top producer in India ?

(B) SHSIA, ST, SR
(D) T, HahT, AT

=

=¥

PL-2
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During 2001-2011 Population growth rate of Ganganagar district is —
(A) 10.0% (B) 16.9%
(C) 325% (D) 213%
2001 & 2011 3G % GH TR fet i S 9fg @ e —
(A) 10.0% (B) 16.9%
(C) 325% (D) 21.3%
Which ruler of Mewar was given the name of “Vishamghati Panchanan’ ?
(A) Rana Hamir (B) Rana Lakha
(C) Rana Kumbha (D) Rana Udai Singh
“foremrerd} U= Shl HST TS o fohE e i < S oft ¢
(A) O gHR (B) T ARGl
(C) T (D) T IeAHE
Who was the Maharana of Udaipur at the time of revolt of 1857, ?
(A) Jaswant Singh (B) Swaroop Sirigh
(C) Udai Singh (D) Ratan Singh
1857 I Shife o HHA IGIYX < HENIUN D I 7
(A) SHIAEE (B) wWEUlHgE
(C) IeaftiE (D) TaHfdE
Where was the third session of “Rajputana Madhya Bharat Sabha” held ?
(A) Nagpur (B), Jaipur
(C) Ajmer (®) “Delhi E=m
“TSIYATT W WA THT” 3T O ST hal, 0 311 7 mak
(A) AL (B)_Sa9T
(C) 3T (D) Teeett
Who was made the Prime Minister of Gu€ater Rajasthan ?
(A) Haribhau Upadhyay (B) Gokulbhai Bhatt
(C) Hiralal Shastri (D) Tikaram Paliwal
“T&d TS h1 TUTHHET e, SATIT 7T o7 7
(A) TS I (B) TGHeIWTs Wg
(C) BRICTURITET (D) JIHNH UTeare
Who is known as “Banasur ka Shaheed” ?
(A) KésariSingh Barahath (B) Major Saitan Singh
(C) Pratap Singh Barahath (D) Havildar Major Piru Singh
“STUITERER] Il AT | S 91 THE Al JH1 A1 g ?
(A) ‘hElITHE STES (B) R Jqmfiig
(€) gdrafeE TREs (D) @deieR o fefig
Who built Churu Fort in 1739 ?
(A) “Jaswant Singh (B) Rai Singh
(C) Kalyanmal (D) Thakur Kushal Singh
=& g1l o FHI0 1739 T FoRE shiam ?
(A) SEEardE (B) TAfHE

(C) HeAHA (D) 3T A &7
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Tulsi, Haalro, Timaniyan and pot ornaments are worn by women in which part of their
body ?

(A) Head (B) Neck

(C) Hand ' (D) Waist .
Toret, grem, foufora qem ara Arges 3myyor ufgenati grr IR % F | YT WU S § ?
(A) Tr (B) Tl

(C) 3 (D)

Which Film has been made on the book “Duvidha” by Vijaydan Detha ?

(A) Mumal, Phulwari (B) Alekhu Hitler

(C) Duvidha, Paheli (D) Uljhan, Suljhan
forstrer o i geas “gfaen” Wi it fvew w1 fmfor g g 8 7

(A) T, Beart (B) 3oy feeem

(C) gfawr, gaelt (D) 3T, geigH

“Hela Khyal” is a folk theatre from which region of Rajasthan ?

(A) Dausa (B) Bikaner

(C) Sikar (D) Barmer

“EeT T wmmmﬁ%ﬁqﬁ & | TeUdE,?

(A) < (B) R

(C) ¥ (D)

What is Patelya, Bichhiyo, Lalar, and Machar ?

(A) Famous songs of Mewar (B) Famous,songs of Marwar

(C) Famous songs of Mewat (D)4, Famous songs of Hadoti

T, SifeE, STen I AT @ E ? Eﬁ
(A) WaTS % gfbg A (B) “ERaTE % Ifag a ol
(C) Werd % wftrg Ta (D). &SN = uftrg T

“Social Science as a general term for@all the sciences which are concerned with the human
affairs.” This is defined by

(A) Seligman (B) Mitchell

(C) Fairchild (D) Peter Lewis

“geTTeh fosi 37 |t foIstii, o foTT Tsh T 316G < &9 § S WG WHel | Jefd & |17
g TR femer o 2

(A) T gr (B) Tt gr

(C) SIS AR (D) i afem g
Which ofthe following is an Audio — Aids ?

(A) Linguaphone (B) Over Head Projector (OHP)
(C) Epidiascope (D) Bulletin Board
fdeen d s ami g ¢

(A) ToffeTHH (B) 3ATeigg TNieet

(©) “ferfaamss = (D) FafeA«E

Which one is not a type of project method given by Killpatrick ?
(A) “Constructive Project (B) Destructive Project
(C) Problematic Project (D) Practice Project
S0 & S 91 T Toherdideh g Tem 1T TRENS o1 TehR & & ?
(A) TETCHS YRS (B) Taeagss uiwsmn

(C) EHEITCHS JIEISHT (D) 31ITE YIS
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Who propounded the linear programmed instruction ?
(A) Norman A. Crowder (B) B.F. Skinner
(C) Thorndike (D) Thomas F. Gilbert
T TR STHeYH 1 fured fehem fopam 2
(A) AT T PR (B) t.u%. WhIN
(C) UHeEH (D) o U%. fiesd

Which one is not a limitation of assessment ?

(A) Lack of'time

(B) More importance to the competition

(C) Conceptual error

(D) Freedom from fear and stressful environment

30 I H Th ATohe sl AT & ?
(A) FHI 6 St (B) wferst =i 3fess o
(C) HehedATeTs Ife (D) 9 Ud qETegel TiHasL A gih

Which one is not prerequisite of lesson planning ?
(A) Knowledge of subject

(B) Knowledge of learner family background ETE
(C) Knowledge of child psychology s
(D) Knowledge of methods and technigues

I U TS AT <hl gt TE 8 7

A) fams = (B) aifermeRal &t aTianfies gy 1
(C) sTel HHITSSI <1 STH (DY Tarferai (Rragor) wal deheiehl 1 [

Which one of the following is correctly. matched ?
(A) Socrates — Instruction method

(B) Plato — Questioningymethod

(C) Herbert Spencer —Dialectic;method

(D) Aristotle — Deduetive and Inductive method

= o & o w1 v G gifea B 2

(A) gHUa = THeeH fafy

(B) wAh— T (il

(C) TEETFR — Harg fafy

(D) 3] — W 3R e fafy

Which éne is not a general objective of teaching of social studies ?
(A) “Acquaintance with the environment

(B) Interest in socio-economic institutions

(C) »Appreciation of cultural heritage
(D) Appreciation of caste system

SIF | Teh HTHITSR ST 18107 1 HTH 3899 781 & ?
(A) TTERET B g g (B) HETHTTeh—3TTfeh EETT | &
(C) HThiceh forred shi wraT (D) STy <t e
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How many steps are suggested for solving a problem ?

A) 2 (B) 3
© 5 D) 7

U 3 THTE % fo1T foha =0T o1 gema feam mn g 2

(A) 2 (B) 3

© 5 D) 7

From which layer of the atmosphere do radio waves come back ?
(A) Stratosphere (B) Mesosphere

(C) Ionosphere (D) Exosphere

et qt arquee i fopd T & 99| S § 7

(A) HHAH HSA (B) W HEA

(C) 3R HeA (D) T& T

Which of the following cyclone is called water spoutsyin sea ?

(A) Typhoons (B) Hurricanes

(C) Willy-Willies (D) Ternade

o 1 & form <oheTd ol T T STel W hEd By ERm
(A) TR (B) &b B
(C) foefht-foefs (D)us TN

Which of the following currents are cold€urrents ?

1.  Labrador current 2. Oyashio current

3.  Benguela current 4. Alaska current

(A) 1,2,4 B) 1,2,3

©) 2,3,4 (D) 1,3,4

frafafaa aricTid @ . 3 ari g 7

. WISER 9’ 2. STEIE g

3. STl 9w 4. AR €W

(A) 4724 B) 1,2,3

) 2434 (D) 1,3,4

During the time of perigee the tidal range is —

(A). Equal to normal (B) Less than normal

(C) " Greater than normal (D) None of these

MY h THY SR Y BIAT & —

(A) THI % SR (B) IMI %A

(C) IM=I A AfH (D) T A I &I
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INSTRUCTIONS / fadat
(Read carefully and comply / &9 & U 3R qTa =e)
IMPORTANT / Agwqut

. In Section 1I (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the

. In Section III (Language-1I) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the preSeribed place in the

. The candidate has to answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studigs as selected by the candidate

Online Application Form.

Qug [ (VIO 1) | SET WINT F W BT TS FAT AT 2 T AT 7 99 s X WSy [ ¥ w9 § qiend aeed-us § G #

Online Application Form. The Language-II will be different from Language-1.
GUE [11 (TS~ 11) W6 AT T 1 b AT ST & IoT8 AT BT = SIS WIS - [[h &N AT TG -T= A R | e - 11 arer - 18 forea et |

OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
Question Booklet Number.

B Wﬁ%OMRSﬁEﬁﬁHﬁHWWDWWﬁH@E@&WE WE AW B | AT OMR, 3fte T Gearieha
- ST UY A&l ik WA- st IS Sh. o TR W FRAT ST |

in the Online Applicaton Form.
If a candidate answers the questions of the langu dge or subject other than selected in the Online Application Form, the candidate shall be
personally responsible _for it and it would be treated as wrong.
%mzﬁaﬁsam?f W%ﬁg@m IV ) IO Td o an (v by amTioes stemaq 8§ 3d) fowa & usl & ed o 2, fa fawg &1 w@m seft
AT Arde-u= |
Uﬁ?ﬁﬁwm SATAATEA AASA-T= § FFfTd AT a1 forwa & Ul 1 gl 7 s 379 fowa & ueAi dhgd ot ¢ at ge sl & @y ) e
qAT T AT ST |

13.

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet@nd Sl. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsiblé for the consequences arising during
scanme'# of your OMR Answer Sheet.
T H ﬁtmlﬁ7WOMRsﬁE®W1ﬁ4amm=rg%m(§a@z)aﬁwi|uﬁmwaﬁ%%ﬁa¥w
‘mﬁmzﬁnwmﬁ% OMR «ffe it THTT & Fowaed g 9T TROmE & Ffd AT f@d Iaear e |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions/starting fromPage No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Questlon Booklet.
EECE T 96 I8 UL 150 W& © | Tt ey g7 9 & IWra € ug- Enk: i Re sl rrg gifeag w3 T ge-gfeaamt # 150
Te § S 6 U8 e 3§ Uy 90 @& &_| OMR fie W firge TR sl SRl fohd T8 Fa3-99 & AGER sAfeha Bl € T W
T -GfEqHT o SO AT R AT sifera R €S R |
All questions are of MCQ (Multiple Choice Question) type. There is'only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers
T A9 S fhed s W o & | e WS 1 Ueh fachod 1 @l & | Tl qeeah fordl et sich weh @ | TTovet tarm ok fosil Sromresren sieh =i fol svoaidt |
All questions other than language questions of Sections II and III shall be bilingual,
TIT-T H W TG @O 11 TF 111 % vt & afafiaa g aft @vet & g9 fgwmia g o
In any event of any mistake_in any question/s, candidates will not bespenalized.#owever ng corrections will be made in question/s during the examination.
et 7 foret 7fe & fosit wremmert st fore Yo ST e Tl N | IRIeAT ST srafes 3 Wel # fohell YehR i1 ASME et hearan
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be prov1ded
TR oh T T3 B T4 - ecTh g T STE o1 T @ | 36 e - et § el wie, | foret weR ot srforiie SRS Sy T shearan S |
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Dlgltal diary, Bluetooth, Microphone or any other electronic item/instrument
st ot glowed, Thelp e wil wsult i dggualficaion fore T SR/ e a0 i At
, T&SI1es I, ATSShIHIA AT I YR HT EEE) ki
%Iﬁmﬂmqﬁm%maﬁaﬁmwmé e o
OMR Answer Sheet will be provided along witl m?él'leﬁsuon Booklet separately.
OMR ¢flc Us7-Geqeht & &14 Sl Tar el
The Question Booklet will be issued'to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Booklet sealshall be opened 5 minutes before the start of examination and the candidate must fill 1 to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warmn Bell will ring at 5 sinutes before'closer of examination and the last long bell will ring at cloger of examlnatlon
YT -TTEqehT ILIEAT_ ST &1 & 10 qjéiaﬁTﬁmwaﬁmaW‘@qﬁOMRaﬁzﬁwﬁuﬁﬁ?ﬁ YRR § W_| T -
g%wﬁﬁa.qﬁmm%sﬁﬂzqﬁeﬁamwm 1 & 4 i wfafseat wt Hﬁwﬁ%ﬁ |1;rs‘=r gfﬁaﬂ@ﬂﬁ%qﬂmqﬁmﬁw
gﬁﬁmaﬁ%wﬁﬁaﬁamw%/aﬁémﬂwaﬁﬁ% BUTE It B /AT Tg FE I AR I3 T © | TG T9A-
g%mﬁ WhR Sl ShIE FC T2 ST o echTed Seqeh H AT Sﬁ:l'rﬁ_’a?“ﬁ'cl'{ & T AUAT T - eI hT dqvicuﬁ | qmq-ﬂaﬁ
W%%Sﬁﬂtﬁaﬁﬁwaﬁﬁﬂﬁﬁﬁw LCECl
Write your Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet Number
in the gpace prov1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
- 1%'T:%OMR sfre R feiia ®&m W AW, T S B FE, AR, AW, TE-IaE €W Fi8, fEe FwHie @ we gieaw
ST 3ifehd |
With_eaeh question/you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, aceordingito you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
tofthe question. For marking answers use blue/black ballpoint pen only Gel pens/pencils are not allowed.
FIT h ARAHCIR TR A, B, CH DH AT E | 9e i ag IR BT FIT X IS I ] OMR e H e f7a I e o e
T ITERT A ZRIT B |wﬁaﬁaaﬁ%%ﬁ%mmwwﬁﬂwﬁmﬂaﬁ | S YR A AR ST A € |

Correct Method : [ corrECT /Wt Wrong Method : [ wroNG /e WRONG /e WRONG /et WRONG / e

i 000 @| ™™ ROOO||oQ00o||0o000O||CeC e

OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b}é;computer dlfﬁcult Any resultant loss to the candldate on the above account shall be of the candidate only.

OMRS E‘gﬁ OMR ¢fie s fuee fea T fgart TE R, T HPEE TIRT ST
%|ww@qﬁwﬁaﬁ%ﬁ s ﬁgaﬁwaﬁm @?W e B

No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR co w1th him/her. Question Booklet is not allowed to be taken by the candidate.
HTE qhendl sifem 5] e & g Wi w1 ° a‘l%?ﬂ% | OMR gfte FmE4 qa afgd § SES a1dl qCF IHRYA foa
3 ® | el "EET ¥ i ) ufa (m%ﬁ)ﬁgstr% @Wﬁmﬁ%ﬂ%ﬁaﬁﬁa ;@ﬁ'wﬁrﬁaﬁé%ﬁﬁ | GreAT-hed
%ﬁ%ﬂgawﬁOMRﬁgqﬁwmﬂm #h ! TIT ¢ | AT waer At OMR <hY wfer 2t o1 a0y & & | we-gfeasht






